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A Valuation Framework for Beating
Inflation and Creating Long-Term Wealth

“It's far better to buy a wonderful company at a fair price than a fair company
at a wonderful price.” -warren Buffett

We often see individual investors get stuck thinking of stocks as short-term trading vehicles. In our opinion, inves-
tors who consider themselves owners of companies rather than owners of stocks are more likely to be successful in
reaching their goals. As owners, investors should not accept a return on their investment that is less than the risk-free
rate plus an equity risk premium. Too often, people invest with long shot hopes of achieving short-term jackpot type
returns. They forget the long-term goals of investing - beat inflation and create wealth.

One of the hardest things for investors to do is to separate day-to-day stock price gyrations from the fundamentals
of the companies they own. It may help to remember that high quality companies are more likely to generate strong
returns on capital regardless of stock market gyrations. In addition, if the economy slows or declines, profits of quality
companies should suffer less, which means their stock prices, in theory, should also fall less. Investors (aka owners) of
such quality companies should be able to grow their own wealth in line with wealth-creating companies.

Successful investors like Warren Buffet are able to outperform their peers and benchmarks over time precisely be-
cause they think long term and differentiate between company fundamentals and stock market volatility. This is why
when the market corrects and people ask Mr. Buffet for his opinion, he typically answers, “I have total faith in the U.S.
economy.” Other professional investors offer opinions on where stock prices will be the next day, the next month, the
next year. Mr. Buffet doesn't care where his stocks trade on any given day. He understands that day-to-day gyrations
don't affect the long-term fundamentals of the companies he owns. This is why Buffet often acquires entire compa-
nies when he truly believes in their long-term fundamentals. This, in effect, takes market volatility out of the equation.

WHEN IS THE PRICE RIGHT?

The ideal stock is priced below its intrinsic value and produces high returns on capital, with relatively low levels of risk.
Unfortunately, most investors are more likely to buy stocks when they are priced above value, have returns that are
reverting to the mean, and carry higher risk than expected. In fact, the market (made up of investors) usually craves
high momentum, expensive growth stocks. In the U.S., investors most often favor stocks that are expensive as mea-
sured by price-to-earnings or price-to-book ratios. These stocks tend to have very low dividend yields and very high
expected growth rates. They also tend to have experienced high price momentum over the previous 12 to 24 months.

III

In our experience, such stocks have not been “ideal” for creating long-term wealth.
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So how do investors decide when the price is right? In this paper, we will review pros and cons of some popular val-
uation frameworks. We will also present the valuation framework we at QSV apply to help investors beat inflation
and create long-term wealth.

POPULAR VALUATION FRAMEWORKS
Multiple-Based Valuation

Value multiples are by far the most widely used measures for valuing equities, probably because they are very sim-
ple to use. Value multiples require only two inputs - an estimate of the firm’s value in the numerator and a measure
of some valuation metric in the denominator. In other words, a valuation multiple is simply dividing the price of the
company by a factor that is believed to drive value for that company. For example, the trailing 12-month price-to-
earnings multiple simply divides a stock’s current share price by the last year’s earnings per share.

Other commonly used valuation multiples are price-to-book value, price-to-cash flow, and price-to-sales. All else
being equal, investors would want to pay as little as possible for each unit of earnings, book value or whatever other
value measure they choose. These ratios are widely used due to their simplicity, but one disadvantage is that they
provide only a snapshot of a company at a given point in time. Though investors can gain more insight by looking at
a company’s multiple over many years or by comparing it to the market and other companies in the same industry,
there is another critical drawback. Valuation ratios still do not account for cash and debt on the company’s balance
sheet. More importantly, they do not account for a company’s potential growth or its risk profile. Because of such
limitations, we at QSV may use these ratios in our screening process, but we rely on a more robust model to derive
our ultimate intrinsic value estimates.

Enterprise Value

Another measure of a company’s worth is enterprise value, which is the price an acquirer would pay to buy an entire
company. Enterprise value represents the worth of a company’s ongoing business. As discussed above, traditional
equity multiples like the p/e ratio, price-to-book value, and price-to-cash flow only show the value of shareholders’
claims on the business'’s earnings, assets, or cash flows. Multiples of enterprise value, however, reflect the value of all
claims on a business.

Enterprise Value = Market Value of Equity + Net Debt

Enterprise value best represents a company’s “takeover value” - what it would cost to buy the entire company. It’s
different from the more commonly quoted measure of company value - market capitalization, which is the cost of
buying all of a company’s outstanding shares. If you buy the entire company, you also assume its debt obligations.
Furthermore, any cash the company has on its balance sheet can be used to pay down those debt obligations, so
we deduct cash from total debt to arrive at a value for net debt. Adding net debt to the market value of outstanding
equity gives us a better measure of a company’s fair value.

Consider the following example. Company A and Company B both have market capitalizations of $100 million with
$10 million of earnings before interest and taxes (EBITDA). Therefore, both would trade at 10x EBITDA, using a tradi-
tional price-to-cash flow multiple.
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However, someone who wanted to acquire the entire company would need to consider the firm's capital structure.
If Company A has $20 million in cash and no debt (net CASH of $20 million), while Company B has no cash and $20
million in debt (net DEBT of $20 million), then the enterprise value of Company A is $80 million ($100 + $0 - $20) while
Company B is $120 million ($100 + $20 - $0). From an acquirer’s perspective, utilizing the EV/EBITDA framework,
Company A would appear cheaper as follows:

Company A = Enterprise Value / EBITDA = $80 million / $10 million = 8x
Company B = Enterprise Value / EBITDA = $120 million / $10 million = 12x

This example demonstrates how important it is to consider capital structure when evaluating company valuations
and why we believe multiples of enterprise value are a significant improvement over simple price multiples.

Discounted Cash Flow Model

At the most basic level, a firm’s theoretical value is equal to the present value of its future cash flows. This is called a
discounted cash flow (DCF) model. Unlike multiple-based valuation, which is a snapshot of current valuation, DCF
models project cash flows many years into the future and then determine what those future cash flows are worth
today. This may be a more accurate way to measure valuation, but it takes more time and includes additional pro-
jections that may dramatically change the valuation.

Free cash flow (FCF) models are popular because they calculate financial performance as operating cash flow minus
capital expenditures, which shows the true cash coming into and going out of a business. A company can appear
very profitable on the surface - for example based on earnings per share (EPS) - but actually have a net negative
cash flow.

Analyzing cash flow statements from many previous years should provide a clear picture of how healthy a company
has been and also provide guidance on how to project cash flows into the future. It is particularly important to note
how a company performed during industry downturns or a recession because these indicate whether the company
was able to continue generating free cash flow during difficulties.

After determining a company’s free cash flow, it is possible to forecast future free cash flow and develop a discount-
ed free cash flow model using the following formula:

DCF = [(CF,) / (1+1)] +[CF,/ (1+ )] + ...+ [CF /(1+r)]
CF = Cash Flow
r = Discount Rate (weighted average cost of capital or WACC)

An additional benefit is that DCF models value a firm based on metrics well within management’s control, such as
operating profits and capital allocation decisions, rather than arbitrary metrics such as market capitalization and
share price that depend on what the market thinks about the company.
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The QSV Approach to Measuring Value, Beating Inflation, and Creating Wealth

When we at QSV are deciding whether or not to own a stock, what we really want to determine is if the company is
able to create wealth and what will the company be worth well into the future. As we said above, valuing stocks using
multiples is helpful for determining what a stock is worth at one point in time. For example, PE multiples are typically
based on earnings per share for either the last 12 months, current year or next year. At QSV, we do not plan to trade
in and out of stocks, so we rely on a more comprehensive valuation strategy to identify companies that will create
long-term wealth in order to help our clients beat inflation while investing for and during retirement.

Companies can create wealth only if they are able to generate a return on invested capital that is greater than the

cost of that capital. In the simplest terms, a company must earn more on its money than what it pays to borrow
that money.

Example: A company borrows $100 million at a 5% rate of interest and sells 10 million shares to the market at $10
dollars each. The capital invested in the firm is $200 million ($100 million debt + 10 million shares x $10 per share).
We already know the debt cost 5%. To make it simple, assume the equity cost 10%, and the company pays no tax on
its profits. So, half of the company’s capital costs 5% and the other half costs 10%.

The total cost of capital is: (50% x 5%) + (50% x 10%) or 7.5% per year

This is also known as the Weighted Average Cost of Capital (WACC). In order to create any value, the company
must earn at least 7.5% on the capital borrowed from its lenders and investors. All else being equal, if a company
earned only 7.5% in perpetuity, investors should never pay more than the original $10 per share of stock because
the company is neither creating nor destroying capital. If the rate of return on the invested capital increases above
7.5%, the company’s stock should be worth more because the company is creating wealth. If the rate of return is
below 7.5%, the stock should eventually fall below $10 because the company is destroying value by earning less than
its cost to borrow.

Company management, employees, and investors want a company’s enterprise value to be as high as possible com-
pared to the capital invested in the company. However, companies that destroy capital may still trade above its in-
vested capital. Either investors believe a particular company will eventually create value or they don't recognize that
the company is not positioned to create wealth over time (even if it appears to be exciting and growing earnings at
a fast pace).

For successful long-term investing, we need a valuation framework that helps us identify companies that add value
and create wealth over time versus those that destroy capital. We believe Economic Profits does just that and have
made it the basis of QSV's valuation framework.

Economic Profits

The Economic Profits Model is an extension of the DCF model discussed above. The two valuation methodologies
should yield the exact same result for firm value. The primary difference is that DCF models only take a charge for the
debt portion of capital (by subtracting interest expense from operating income), while an Economic Profits Model
subtracts both interest expense on debt plus a charge for the cost of equity. As we will demonstrate, the primary
advantage of the Economic Profits Model is that it allows us to determine whether a company creates or destroys
wealth over time.
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Economic Profits are a more accurate assessment of a company’s profitability than traditional income statements,
which show earnings available to the company’s owners. Though interest expenses, representing the cost of debt,
are included on the income statement, any dividends the company pays and any other equity-based capital costs
are not deducted from earnings on the income statement. Therefore, the opportunity costs to an investor of owning
stocks are not explicitly deducted from earnings on a company’s income statement. To determine Economic Profits,
we deduct the opportunity costs or required costs of capital that equity investors require when owning that compa-
ny's stock. Consider the following example using a hypothetical company, Hi Tech Software Inc.

FIGURE 1: HI TECH SOFTWARE INC.

Hi Tech Software Inc. has $500 million in assets financed 50% with debt and 50% with equity:

Costof debt .....cccoveevevueviieiiecreeenee 8% (5.2% after tax)
COSt Of EQUILY...eveveereeereeeteeeete ettt 12%
Effective taX rOte...c..eceeeeeceeeeeeececeee et 35%
EBIT (earnings before interest and taxes) ........cceceveenneen. $60,000,000
Less Interest EXpense.......cccceeeevueeeneeceenenseencnnenne $20,000,000
PretaX INCOMEe...co.eeeeeeeeeeeeeeeeeeeeeeeeete et $40,000,000
Less Income Tax EXpense........ccceeeeveerneerceerceerseennnen. $17,500,000
NEt INCOME ettt $22,500,000

Net income of $22,500,000 looks good until the cost of equity is factored in.

Cost of Equity.....ccceeeeueuemnee 250,000,000 x 12% = $30,000,000
Economic Profits for Hi Tech Software Inc................. -$7,500,000

Hi Tech Software Inc. is profitable on an accounting basis, but unprofitable on an Economic Profits basis. The 12%
cost of equity is an investor’s required rate of return, also known as the opportunity cost that a company must pay a
shareholder to invest in the firm.

Why should investors subtract an amount for the cost of equity? Because if Hi Tech Software Inc. doesn’t deliver the
investors’ required rate of return, they can choose another investment. In fact, investors can buy risk-free Treasury
securities if the added risk of a given stock investment isn’t appropriately compensated by extra return. Although
there is no legal requirement to deliver a return to equity holders (as there is for interest and principal paid to bond-
holders), firms must compensate for investment risk exposure in order to attract investors.

The Economic Profits Model has the additional benefit of slicing up cash flows to give us insight on whether manage-
ment’s capital allocation decisions (dividend policy, share repurchase, acquisitions, etc.) create or destroy value over
time. It is similar to modern corporate finance theory, whereby management teams strive to take on only projects
that have a positive net present value.
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A Real World Example

Let’s bridge the gap between the hypothetical and the real world by walking through a calculation of economic

profits for technology giant, Oracle Corporation. The following example will take us through the steps of calculating

economic profits. The equation for economic profits is as follows:

Economic Profit = Net Operating Profit after Taxes Minus Capital Charges

Step 1: Calculating Net Operating Profit After Taxes (NOPAT)

To calculate NOPAT, start with earnings before interest and taxes (EBIT) on the income statement and subtract the
tax liability. Using the sample income statement in Figure 2 below, we calculated Oracle’s NOPAT for the fiscal years
2012,2013, 2014, 2015 and 2016, as outlined in Figure 3 on the next page.

FIGURE 2: ORACLE CORP. INCOME STATEMENT

All Figures in Millions of U.S. Dollar

FY2012 FY 2013 FY2014 FY 2015 FY 2016

Revenues 37,121 37,180 38,275 38,226 37,047
less Cost of Goods Sold (COGS) incl. D&A 10,288 9,498 9,536 9,681 9,117
Gross Profit 26,833 27,682 28,739 28,545 27,930
less Research & Development 4,523 4,850 5,151 5,524 5,787
less Other SG&A 8,253 8,400 8,605 8,732 9,039
EBIT (Operating Income) 14,057 14,432 14,983 14,289 13,104
plus Non-operating Income - Net 98 187 26 159 324
less Unusual Expense - Net 308 -188 293 358 403
less Interest Expense 766 797 914 1,143 1,467
Pretax Income 13,081 14,010 13,802 12,947 11,558
less Income Taxes 2,981 2,973 2,749 2,896 2,541
Consolidated Net Income 10,100 11,037 11,053 10,051 9,017
Minority Interest 119 112 98 113 116
Net Income 9,981 10,925 10,955 9,938 8,901

Source: FactSet Fundamentals
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Step 2: Calculating Invested Capital

After we determine NOPAT, the next step is to calculate the firm’s total invested capital - all money that has been
invested in the company. This money provides the operating assets required for core business activities like inventory,
property, plant, and equipment. There are a few different ways to calculate invested capital including the following:

FIGURE 3: ORACLE CORP. NOPAT CALCULATION

All Figures in Millions of U.S. Dollar

FY 2012 FY2013 FY2014 FY2015 FY 2016

Revenues 37,121 37,180 38,275 38,226 37,047
Cost of Goods Sold (COGS) 7,372 6,567 6,628 6,820 6,608
Depreciation 486 546 608 712 871
Amortization of Intangibles 2,430 2,385 2,300 2,149 1,638

Gross Profit 26,833 27,682 28,739 28,545 27,930
Research & Development 4,523 4,850 5,151 5,524 5,787
Other SG&A 8,253 8,400 8,605 8,732 9,039

EBIT (Operating Income) 14,057 14,432 14,983 14,289 13,104
less Income Taxes 2,981 2,973 2,749 2,896 2,541

NOPAT 11,076 11,459 12,234 11,393 10,563

Source: FactSet Fundamentals

Invested Capital

= Book Value of Debt + Book Value of Equity
= Fixed Assets + Current Assets - Current Liabilities - Cash
= Fixed Assets + Non-cash Working Capital

Invested capital is an estimate of the total funds held on behalf of shareholders, lenders, and any other financing
sources. A key concept in the calculation of Economic Profits is that a company is charged “rent” for the use of these
funds. Economic Profits then represents all profit in excess of this rental charge.

Continuing with the Oracle example, we calculate the firm's invested capital at the end of 2016 as follows:

Invested Capital

= Book Value of Debt + Shareholders’ Equity
= ($3.75 + $40.11) + $47.29 = $91.15
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Step 3: Calculating the Cost of Debt

Because interest expense is deductible from income taxes, we define the cost of debt on an after-tax basis as follows:

Cost of Debt

(Interest Expense / Total Debt) * (1- tax rate)
($1.467 / ($3.75 + $40.11)) * (1 - 21%) = 2.6%

FIGURE 4: ORACLE CORP. BALANCE SHEET

All Figures in Billions of U.S. Dollar

FY 2012 FY 2013 FY 2014 FY 2015 FY 2016

Assets

Cash & Short-Term Investments 30.68 32.22 38.82 54.37 56.13
Short-Term Receivables 7.19 6.88 6.99 6.44 6.20
Inventories 0.16 0.24 0.19 0.31 0.21
Other Current Assets 2.00 2.36 2.14 2.07 1.78
Total Current Assets 40.02 41.69 48.14 63.18 64.31
Net Property, Plant & Equipment 3.02 3.05 3.06 3.69 4.00
Total Investments and Advances 0.00 0.00 0.00 0.00 0.00
Intangible Assets 33.02 33.98 35.79 40.49 39.53
Deferred Tax Assets 0.60 0.77 0.84 0.80 1.29
Other Assets 1.67 2.32 2.52 2.75 3.04
Total Assets 78.33 B1.81 90.34 110.90 112.18

Liabilities & Shareholders' Equity

ST Debt & Curr. Portion LT Debt 2.95 0.00 1.51 2.00 3.75
Accounts Payable 0.44 0.42 0.47 0.81 0.50
Income Tax Payable 0.03 1.02 0.55 0.62 --

Other Current Liabilities 11.97 11.43 11.87 11.87 12.95
Total Current Liabilities 15.39 12.87 14.39 15.29 17.21
Long-Term Debt 13.52 18.49 22.67 39.96 40.11
Provision for Risks & Charges 0.16 0.09 0.07 0.03 0.03
Deferred Tax Liabilities 0.05 0.17 0.26 0.38 0.16
Other Liabilities hal2 5.04 5.51 6.14 6.89
Total Liabilities 34.24 36.67 42.90 61.81 64.39
Common Equity 43.69 44.65 46.88 48.66 47.29
Total Shareholders' Equity 43.69 44.65 46.88 48.66 47.29
Accumulated Minority Interest 0.40 0.50 0.57 0.44 0.50
Total Equity 44.09 45.15 47.45 49.10 47.79
Total Liabilities & Shareholders'

Equity 78.33 81.81 90.34 110.90 112.18

Source: FactSet Fundamentals
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Step 4: Calculating the Required Return on Equity

The required return on equity for an investment is the risk-free rate, such as a U.S. Treasury, plus a risk premium equiv-
alent to the same risk as the investment under consideration. If a risk asset has an expected return equivalent to that
of arisk-free asset, it would only make sense to buy the risk-free asset and avoid the risk asset.

When evaluating equities for potential investment we are interested in the rate of return an investor would require to
hold the equity instead of the risk-free asset. This is referred to as the required return on equity and can be estimated
using the Capital Asset Pricing Model (CAPM).

Required Return on Equity =r.+ B (r_-r,)

Where---«ccccvnnee. » 1, = the risk-free rate, typically the interest rate of the 10-year US Treasury
B = the trailing 3-year beta for the equity under consideration vs. the S&P 500

r_=the expected market return. A simple way to estimate this is by taking the
expected earnings yield of the S&P 500, which is equivalent to the inverse
of the price/earnings multiple of that same index

The (r_-r,) termis also known as the equity risk premium. This is the excess return an investor would require to hold
equities instead of the risk-free asset. It has historically ranged between 3% and 5%.

FIGURE 5: TREASURY YIELDS

DATE 1 MO 3 MO TYR 2YR 5YR 10 YR 30YR
1/20/2017  0.45% 0.49% 0.80% 1.20% 1.96% 2.50% 3.07%

Assume that we plan to hold an investment for the next 10 years. As of Feb 28, 2017, the forward 12-month P/E for
the S&P 500 was 18.11x, which equates to an earnings yield of 5.52%. Another way to think about this is that inves-
tors expect the S&P 500 to return approximately 5.52% over the next 12 months. Using this information as well as
the data from Figure 5, we can estimate the required rate of return for Oracle using the capital asset pricing model
(CAPM) as follows:

Required Return on Equity = r.+ B (ERP) = 2.50 + 1.07 (3.02) = 5.73%

Where------- » Risk Free
Rate (Rf) =2.50%
Equity Risk
Premium (ERP) =r - r,=5.52% - 2.5% = 3.02%
Beta (B) for Oracle
(3-year trailing
vs. S&P 500) = 1.07
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Step 5: Calculating the Weighted Average Cost of Capital (WACC)

The weighted average cost of capital (WACC) is the rate of return that could have been earned by putting the same
money into a different investment with equal risk. Thus, the WACC is the rate of return required to persuade an inves-
tor to make a given investment.

It is helpful to think of this as the investor’s opportunity cost of owning a particular investment. WACC is the rate
that should be used to discount future cash flows to a present value. Companies that have well established business
models, stable cash flows, manageable leverage, and a competitive edge should have a lower risk factor (B) than
the market and thus a lower required rate of return.

Continuing with the Oracle example, we calculate the WACC as follows:

WACC

(Debt/Total Capitalization) * Cost of Debt] + [(Equity/Total Capitalization) * Cost of Equity]
($43.855 / $91.144) * 2.6%] + [($47.289 / $91.144) * 5.73%] = 4.22%

[
[

Step 6: Calculating Economic Profits

As we stated earlier, economic profits equal the firm's net operating profit after taxes minus a capital charge. The
capital charge is calculated by multiplying the total invested capital at the end of the period by the WACC as follows:

Capital Charge = WACC x Invested Capital
Capital Charge = 4.2% x $91,144 = $3,840

Subtracting the capital charge from NOPAT we arrive at a value for economic profits:

Economic Profits = $10,563 - $3,840 = $6,723
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Economic Profits for Oracle Corp. for the years 2012 through 2016 are summarized in Figure 6.

FIGURE 6: CALCULATING ECONOMIC PROFITS FOR ORACLE CORP.

All Figures in Millions of U.S. Dollar

2012 2013 2014 2015 2016

Revenues $37,121 $37,180 538,275 538,226 537,047
EBIT $14,057 514,432 514,983 514,289 513,104
Tax Rate 21% 21% 18% 20% 19%
NOPAT $11,076 $11,459 $12,234 $11,393  $10,563
Invested Capital $60,162 $63,142 $71,053 $90,621 $91,144
Total Debt $16,474 518,494 524,175 541,958 543,855
Shareholder Equity $43,688 544,648 546,878 548,663 547,289
ROIC 18.4% 18.1% 17.2% 12.6% 11.6%
WACC 5.1% 5.0% 4.8% 4.0% 4.2%
Cost of Equity 5.7% 5.7% 5.7% 5.7% 5.7%
Cost of Debt 3.6% 3.4% 3.0% 2.1% 2.6%
Excess Return above Cost of Capital 13.3% 13.1% 12.4% 8.5% 7.4%
Capital Charge $3,082 $3,173 $3,404 $3,661 $3,840
Economic Profit $7,994 $8,286 $8,830 $7,732 $6,723
Net Income $9,981 $10,925 $10,955 $9,938 $8,901
plus Depreciation & Amortization $2,916 52,931 $2,908 52,861  $2,509
plus Deferred Taxes S9 -$117 -5248 -5548 -$105
Funds From Operations $12,906 $13,739 $13,615 $12,251 $11,305
less Capital Expenditures 5648 $650 $580 $1,391 $1,189
Fee Cash Flow $12,258 $13,089 $13,035 $10,860 $10,116

Source: FactSet Fundamentals

What can we take away from this example? In short, we see that Oracle created value for its shareholders over the
five-year period. Not only did the company generate an impressive $59 billion in cumulative free cash flow, it also
created in excess of $39 billion in Economic Profits, as a result of the positive spread between ROIC and WACC.
Though this spread has narrowed (from 13.3% to 7.4%) over the last five years, it is still quite impressive. Positive eco-
nomic profits indicate that management should continue to invest in the business as long as risk and return for future
projects is similar to that of previous projects. If it continues to invest, Oracle should continue to generate positive
economic profits and thus create wealth for its shareholders.

On the other hand, if economic profits were negative, Oracle management should consider shifting investment from
projects with negative economic profits into those with positive economic profits or, if no such projects are identified,
the company should return capital to shareholders through stock buybacks or dividend payments. Oracle may also
consider acquiring a company or division with higher economic profits than it produces internally, but only if it pays
a reasonable price for those assets. The bottom line is - only take actions that result in positive economic profits. If
a management action results in negative economic profits, it will ultimately destroy value for shareholders, and the
company'’s price will decrease.
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Let’s consider another example, VALEANT PHARMACEUTICALS (VRX). Using the same methodology as the previous
Oracle example, we have calculated the company’s free cash flow and Economic Profits in Figure 7 below. At first
glance, it appears that Valeant has created over $4 billion in value for shareholders over the five-year period, based
on free cash flow. However, using the Economic Profits Model, we see that Valeant actually destroyed wealth for
shareholders in all but one year. In total, the company destroyed over $2.8 billion in shareholder wealth. This exam-
ple highlights the importance of considering capital structure when choosing investments. Recall that DCF models
only subtract the cost of debt by deducting interest expense from operating income. Economic Profits also factor the
cost of equity into the equation.

The examples of Oracle Corp. and Valeant Pharmaceuticals show how useful the Economic Profits Model can be
in assessing whether management’s prior capital allocation decisions have created or destroyed wealth for share-
holders. However, the Economic Profits Model is also useful as a valuation tool to assist in determining a company’s
intrinsic value, which can then be used to derive a fair value for the firm’s equity. The Economic Profits Model is the
primary valuation tool we employ at QSV Equity Investors.

Economic Profits as a Valuation Tool

Economic Profit is based on the same idea as discounted free cash flow. However, with the Economic Profits Model,
the firm’s total value is broken into two parts: invested capital and the present value of future economic profits. The
sum of these two parts equals the firm's intrinsic value. The theory behind economic profits was developed by Ben-
nett Stewart in the 1980s and presented in his best-selling book, The Quest for Value.

FIGURE 7: ECONOMIC PROFITS FOR VALEANT PHARMACEUTICALS

All Figures in Millions of U.S. Dollar
2011 2012 2013 2014 2015

Revenues $2,463 53,547  $5770 38,264  $10,447
EBIT $315 587 -$470 52,064 51,408
Tax Rate 0% 0% 0% 17% 0%
NOPAT $315 $87 -$470  $1,723  $1,408
Invested Capital $10,658 $14,733  $22,499 $20,573 $37,015
Total Debt $6,651 $11,016 $17,380 $15,261 $31,104
Shareholder Equity $4,007  $3,717  $5,119  $5312  $5911
ROIC 3.0% 0.6% -2.1% 8.4% 3.8%
WACC 6.1% 5.3% 5.6% 6.0% 5.5%
Cost of Equity 7.9% 7.9% 7.9% 7.9% 7.9%
Cost of Debt 5.0% 4.4% 4.9% 5.3% 5.0%
Excess Return above Cost of Capital -3.1% -4.7% -7.6% 2.4% -1.7%
Capital Charge $650 $776  $1,249  $1,231 $2,031
Economic Profit -$335 -$688  -$1,719 $492 -$623
Net Income $160 -§116 -5864 $912 -5288
plus Depreciation & Amortization $613 %986  $1,363  $1,650  $2,366
plus Deferred Taxes 5223 -$320 -$516 $82 57
Funds From Operations $549 §551 -$17 $2,644 $2,071
less Capital Expenditures $386 $181 $185 $471 $303
Fee Cash Flow $163 $369 -$202  $2,173  $1,767

Source: FactSet Fundamentals
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FIGURE 8: USING ECONOMIC PROFITS AS A VALUATION TOOL

YEAR 1 YEAR 2 YEAR 3 YEARN
FUTURE
ECONOMIC | <@eccoeeesss _EP EP _EP_ EP
MARKET |_| PROFITS T+r (U N ) A U
VALUE |~ . i .
INVESTED Economic Profits (EP) = ROIC - Cost of Capital
CAPITAL Invested Capital = total investments in the business from
which economic profits are derived

The Value of a Firm = Invested Capital + Present Value of Future Economic Profits

Economic profit is profit after all costs, including the cost of borrowing investors’ funds. If economic profit is increas-
ing, then the firm’s intrinsic value is also increasing, suggesting that market value should also increase.

Recall that the Economic Profits and Cash Flow Models arrive at the same intrinsic value for a company. However,
we believe the Economic Profits Model provides additional insight into whether management’s capital allocation
decisions are creating or destroying value, which makes this model a better choice for valuing a firm.

Of course, the limitation on both models is that they are only as good as the data input into the model. In other
words, garbage in / garbage out. Both models require successfully forecasting a number of variables in order to
arrive at an accurate firm value. Admittedly, this can be more art than science. However, we believe that in the hands
of experienced investment professionals the Economic Profits Model can be a powerful tool in determining a com-
pany’s intrinsic value.

Let’s continue with our earlier Oracle analysis. This example oversimplifies the process, but still provides a reason-
able overview of the methodology. For this example, we have made the following assumptions:

* Revenues are projected to grow at 3% for the first five years and then drop to 2% thereafter.

* EBIT margins start at 35%, consistent with fiscal year 2016, and subsequently decay by 1% per year.

* Tax rate is assumed to be in line with the 10-year average at 25%.

* Total debt is assumed to remain constant.

* For simplicity, WACC is assumed to remain constant at 6%. In reality, this number changes over time as the
capital structure changes and interest rates fluctuate.

Using the set of assumptions above, we can project Oracle’s economic profits well into the future as shown in Figure
9 on the following page.

It's important to note that economic profits peaked in 2014 and, based on the data presented here, are projected
to trend down until 2026. This means that Oracle is expected to generate ROIC greater than its cost of capital until
2026 and after that point level off.
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FIGURE 9: ECONOMIC PROFIT VALUATION FOR ORACLE CORP.

Rev EBIT Tax Invested Capital Economic Discount PV of Economic
Oracle Corporation Revenues Growth  EBIT  Margin Rate NOPAT  Debt Equity ARE Capital WACC Charge  Profit Factor Profit
2017 438,158 3%  $13,355 35%  25% 510,017 $43,855 $52,241 $4,952 396,096 6% 55766  $4,251  0.943 $4,010.19

2018 $39,303 3%  $13,363 34%  25% $10,022 $43,855 $57,197 $4,956 $101,052 6% 6,063  $3,959  0.890 $3,523.67

2019 $40,482 3%  S$13,359 33%  25% 510,019 $43,855 $62,151 $4,954 S106,006 6% 56,360  $3,659  0.840 $3,072.18

2020 $41,697 3% 513,343 32%  25% 510,007 $43,855 567,098 $4,947 $110,953 6% 56,657 $3,350  0.792 5$2,653.56

2021 $42,948 3%  $13,314 31%  25%  $9,985 $43,855 $72,032 $4,934 $115,887 6%  $6,953  $3,032 0.747 $2,265.76

2022 $43,807 2% 513,142 30% 25% $9,856 $43,855 $76,893 $4,861 $120,748 6% 57,245 $2,612  0.705 $1,841.08

2023 $44,683 2% 512,958 29% 25% $9,718 $43,855 $81,675 54,782 $125530 6%  $7,532  $2,187  0.665 $1,454.28

2024 $45576 2%  S12,761  28%  25%  $9,571 $43,855 586,372 $4,698 $130,227 6%  $7,814 $1,757  0.627 $1,102.61
2025 $46,488 2% 512,552 27% 25% $9,414 $43,855 $90,980 $4,608 $134,835 6%  $8,090 51,324  0.592 $783.49
2026 $47,418 2%  $12,329 26% 25% $9,246 $43,855 $95,492 54,512 $139,347 6%  $8,361  $886 0.558 $494.52

Continuing Value $154,107 6% 0.558 $86,052.75

PV of Economic Profits $107,254.10
Invested Capital (2016) $91,144
Value of Operations $198,398
less Net Debt (Cash) -$21,642
Value of Equity $220,040
Shares Outstanding 4131
Fair Value per Share $53.27

Calculating Terminal Value

When building a valuation model, there is a stated forecast period for which analysts make very detailed assump-
tions about a firm's future growth and profitability. As investors, we would all like to own companies that grow eco-
nomic profits at an attractive rate forever, well beyond our forecast period. However, the reality is that most if not all
firms eventually settle into a steady state where the spread between ROIC and WACC stabilizes. This does not mean
the firm no longer grows, it simply signifies a transition into middle age and maturity. An effective valuation model
must account for this transition period.

To account for this transition period beyond the stated forecast period, we rely on concept known as Terminal or Con-
tinuing Value. Terminal Value represents future economic profits far into the future, discounted back to the present.

Terminal Value = ((ROIC - WACC) / WACC) / (1+WACC)"

If we determine that economic profits are positive during the transition period, the terminal value will be positive
and add to the intrinsic value of the firm. If economic profits are zero, meaning ROIC = WACC, the terminal value will
equal zero and will have no effect on intrinsic value. Lastly, if ROIC is less than WACC, the firm is expected to destroy
value and will decrease the current intrinsic value of the firm.
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FIGURE 10: ECONOMIC PROFITS FOR ORACLE CORP.
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The length of a model’s stated forecast period determines what portion of a firm's total value is attributable to the
Terminal Value. The shorter the stated forecast period, the greater the percentage of total firm value attributable to
Terminal Value, and vice versa. Typical forecast periods range from 5 to 20 years. At QSV, we prefer to use a 20-year
period. Although it can be more challenging to accurately forecast that far into the future, a 20-year period allows
us to adequately factor mean reversion into our models and to taper the ROIC toward the cost of capital over time.
Alonger period also allows us to vary the competitive advantage period and evaluate multiple growth scenarios. To
simplify the Oracle Corp. example, we shortened the stated forecast period to 10 years. Beyond that forecast period,
Oracle still generates profits. Terminal Value is how we estimate what these future undetermined profits are worth.

The most commonly used method of establishing a Terminal or Continuing Value is to assume that the Economic Prof-
its generated in the final year of the stated forecast period remain constant going forward. Those Economic Profits
are then divided by the final year WACC to arrive at a Terminal Value for the company. This is a very conservative
method of estimating Terminal Value, and in many cases, understates a company’s value. However, because we are
using a 20-year forecast period and because we build a significant amount of mean reversion into our models, we
are comfortable that our approach reasonably reflects the middle-age or mature years that lie ahead for the com-
pany. To continue with the Oracle example, we calculate a terminal value of $154,107 ($9,246/6%) for the company.

The Final Step: Intrinsic Value

At this point in our stock evaluation process, we have calculated a series of values for an individual company: future
Economic Profits for the stated forecast period and a Terminal Value for the company beyond that period. In order to
use this information to determine the company’s current value, we take the present value of each of these cash flows
by discounting at the WACC as shown above in Figure 9. Adding together the discounted values of each stream of
cash flows gives us the present value of future Economic Profits.
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In the Oracle example above, the present value of Economic Profits equals $107,254 ($21,202 + $86,052). There is
one final step in determining a company’s intrinsic value. Recall that a company’s fair value is equal to the sum of its
total invested capital plus the present value of future economic profits. Returning to the Oracle example, we must
therefore add the current year invested capital ($91,144) to the present value of future Economic Profits ($107,254).

This yields an intrinsic value of $198,398 billion for Oracle Corp., which is the dollar amount a potential buyer should
be willing to pay for the entire company.

Intrinsic or Fair Value
$198,398 billion

Total Invested Capital + PV of Future Economic Profits
$91,144 + $107,254

As equity investors, we want to know how this translates to a fair value for an individual share. Therefore, we subtract
the net debt and divide that value by the number of outstanding shares. In the case of Oracle, we would estimate the
fair value to be around $53 per share as follows:

Fair Price per Share = (Intrinsic Value - Net Debt) / Shares Outstanding

($198,398 - (-$21,642)) / 4131 = $53

Since the stock’s intrinsic value is $53, investors should consider buying the stock when it trades for less than $53 and
selling or shorting it when it trades above $53.

CONCLUSION

Based on years of investing experience and our understanding of common investor behaviors, we believe there are
two primary hurdles that prevent people from being successful investors. The first is the inability to separate day-
to-day stock price gyrations from underlying company fundamentals and the second is the tendency to buy stocks
when they are priced above value, have returns that are reverting to the mean, and carry higher risk than expected.
Conversely, thinking like business owners rather than a stock investors and owning stocks when they are trading be-
low their intrinsic value are two notable advantages for investors.

At QSV, we purposefully act like business owners, focusing on a company’s intrinsic value and blocking out day-to-
day price moves. Our stock selection process uses a variety of valuation measures to screen for potential investment
opportunities. We then rely on an Economic Profits Model to determine whether a company is able to create wealth,
what the company will be worth well into the future and what is a fair price for the company in the present. That is
how we decide whether or not we want to own a stock. We believe the Economic Profits Model is a powerful tool for
choosing stocks that will help our clients beat inflation and create long-term wealth.
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About QSV Equity Investors

QSV Equity Investors (formerly Ballast Equity Management) is an employee-owned asset management firm that in-
vests alongside its clients in high conviction portfolios of quality small and mid-capitalization businesses. QSV man-
ages these portfolios of publicly traded companies for individuals, family offices and institutions. Based in Oakbrook
Terrace, lllinois, QSV was founded in 2016 by Jeff Kautz and Randy Hughes, investment professionals who previously
held senior roles at Perkins Investment Management and have invested together for over 20 years. For more details
on the specific performance and characteristics of QSV'’s strategies, including a fully GIPS compliant presentation,
please contact Dave Mertens at dmertens@qgsvequity.com.
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